F29mE T RIEMEFERS
#AH: 20224128108

iR (BF-RED)

RS G AHE B N EE RS

AR [EXE] #l R [ K& B ok | fF K& B ok | fF K4 B ok | fF K& B ECER

12/10 gai:'m%% 1 18K BEX@ BEfELl  3.033] 2 |[BKR BDQ) 7 AU—L|  3:135( 3 | B{=(2) ERELl 3598

12/10 ;](;0#0:1¢%¥ 1 1 [mE EAG) | #EsTRU—N 4114 2 % BEABG) | SETRU—K|  4204] 3 [KE BAQR) | #METRU—F 4560

12/10 ;Jc;o#oﬁg%% 1 1 [E &AE@ | #SmFRU—N  3453| 2 |LE#EZEG) =Ry ac7| 3455 3 |[BB REM@ | #SEMTFRU—N  3523| 4 [2n BrRO | #EFRU—L 3561
5 |KH X4 HEkEL 4072 6 |HhE B4 T A)—k 4:156| 7 |HE WHEA) H¥fEL 4:205( 8 |#AR fFK®@4) T R)—k 4:22.2
9 |BH EHIG) 7 AY—N| 4233 10|5F £XKA@ T R)—N] 4250

12/10 ;J;?O:E%¥ 1 1 [k H=xG) HE+mn| 5549 2 [BERE BAG) | #MEFRU—K|  6032| 3 [fm Tt | #MmEFRU—N  6108| 4 |FRREEG) | HETRU—N 6214
5 [JIlgF 520H(5) =R az7|  6:38.0| 6 |dbF EAG) =RazF| 7010

12/10 hPOFET |8 wRO) | METRU—K|  5212| 2 |[4% O | METFRU—L| 5303| 3 |KE HEE) EEEL| 5342 4 [BE 2RO EEEL 63l
5 (A& E+6) A EpRE b 6:41.0| 6 |#EFF Zth(6) =BYazy| 651.1| 7 |[EHF EEG) T X)—F| 6535

12/10 %?0?:? 1 1 7&K RERQ) ERHF 9:227| 2 |EfE #HQ) HRif - T P 9:299| 3 |iHK EHQ2) HRik - 7 e 9:42.0

12/10|BB —RIBF| 1|8 BE KIRISHIMA|  16:55.9| 2 |MI88 %% M| 17:47.3

5000m




F29mE T RIEMEFERS
#AH: 20224128108

FRERR (TF-RE)

B RIS AEES N EE RS

AH #H #l R [ K4 B il R K4 B ok | fF K4 [FidEs Eai ol R K4 B ECER

12/10 ggi'm El 1| L% #&m) AIAC ;g%; 2 [ Br =®yac7| 3207| 3 |am H3:0) sREL|  3s51| 4 [BE E2Q =Bvac7| 3364
5 [fEf%x B2 7 RAY—L|  3416| 6 |FE HEFRQ2) g7 AY—N| 3499 7 |BEH #HBO) T AY—L]  4007| 8 [JIAX &) T RY—N| 4208
9 |=H &) g7 R—N 4408

12/10 ggiaﬁzt? 1 1 |RiTE E#E) 7 AU—N|  3:146| 2 | Tk MEQ) T A= 3:21.4| 3 |FIF BAW® T A= 3221 4 |E fEFEEQ) T RY—|  3:262
5 | EBF R#EQ) 7T AY—L]|  3:281| 6 |TFHF  &H@Q) 7 AY—L| 3315 7 |HHE BEO T A)—N  3:406( 8 |/NEHFILHEB) | EWHETRU— 3469
9 [B& EHE®) g7 AY—k|  4005( 10 |BERE E##(3) T R)—N 4091

12/10 ;J(ﬁ:ﬁzt? 1 1| £ Emé) AIAC|  3:029| 2 |5H EBE®W) T A= 3:11.8| 3 | —FE@4) SfEELl 3177 4 (=K #EH@) T RY—F] 3199
5 |[FRxBfERG] #HHET7RU—N  3:27.1| 6 |1 BFIEWD =BV aIT| 3:206| 7 |EE #F@) T R)—L]| 3314

12/10 fﬁofﬁj‘% 1 1 |7m #Z=6) WAVEEIE|  353.1| 2 [ER mEG) =gvacy| 4019] 3 (=@ BWEEG) SRV aTT| 4056 4 [BSMEEEG) | HETRU—] 4313
5 [sh# E(G5) =BV IT| 4314] 6 | KB EEO) T A= 4466 7 [JIX  FE(5) T R)—N] 4473

12/10 fg?oggj‘% 1 1|k #B6) BN 3199| 2 [k A6 SRBELE[  3209| 3 [® kiEE) WAVEE M|  340.1| 4 [Ba HEe6) | #mETRU—L| 3469
5 |NEA 3EF®6) 7T AY—L]|  4007| 6 |hEF FHZ=(6) =RazT| 4017 7 | OKK®G) T A)—L|  4058| 8 |dhF BEEEE) T R)—| 4068
9 (=W #ITE®) #HIETRA)—M  408.1( 10|hEMRTREG) | BWMHETRU—F 4165 11 |FIE #FHE6) =RVazT| 4217 12| BLLG) =RV azT| 4247
13 (A REEK®G) | #MHETRU—K  4281] 14[IRT KZ(6) T A= 4444 15| BT EHE6) BT R)—N| 4456

12/10[ P 1 1 |hE EAG) M| 11:142| 2 |[FE W) - FER| 11226

12/10[CHREHF 1 |®E BEQ Eh| 2556 2 |k EZQ WEch|  3:25.9

800m




